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3XML�V\XNXU�SHQXOLV�SDQMDWNDQ�NHSDGD�$OODK�6:7��NDUHQD�EHUNDW�OLPSDKDQ�5DKPDW�

GDQ� .DUXQLD�1\D� SHQXOLV� GDSDW� PHQ\HOHVDLNDQ� /DSRUDQ� 3UR\HN� $NKLU�� GHQJDQ�

MXGXO�� $QDOLVLV� 6HEDE� GDQ� $NLEDW� 3HPED\DUDQ� %HUV\DUDW�� 3HUVSHNWLI�

6XENRQWUDNWRU��%DJDLPDQDSXQ��SHQXOLVDQ�LQL�EHUJXQD�XQWXN�PHPHQXKL�SUDV\DUDW�

NHOXOXVDQ�SDGD�3URJUDP�6WXGL�0DQDMHPHQ�GDQ�5HND\DVD�.RQVWUXNVL�8QLYHUVLWDV�

$JXQJ�3RGRPRUR��

/DSRUDQ�3UR\HN�$NKLU�LQL�GDSDW�GLVHOHVDLNDQ�WHQWX�EHUNDW�EDQ\DN�SLKDN�\DQJ�WHODK�

PHPEHULNDQ� EDQWXDQ� EHUXSD� NULWLN� GDQ� VDUDQ� \DQJ� EHUPDQIDDW� NHSDGD� SHQXOLV��

3HQJKDUJDDQ� GDQ� WHULPD� NDVLK� \DQJ� VHWXOXV�WXOXVQ\D� NHSDGD� NHGXD� RUDQJ� WXD�

WHUFLQWD��7��=XOILNDU�GDQ�.KDWLMDK�\DQJ�WHODK�PHQGXNXQJ�VHFDUD�PRUDO�EDLN�PDWHULDO��

6HPRJD� $OODK� 6:7� VHODOX� PHOLPSDKNDQ� UDKPDW�� NHVHKDWDQ�� NDUXQLD� GDQ�

NHEHUNDKDQ�GL�GXQLD�GDQ�GL�DNKLUDW��

3HQJKDUJDDQ� GDQ� WHULPD� NDVLK� SHQXOLV� NHSDGD� ,EX�'U�� 6XV\� )�� 5RVWL\DQWL�� 6�7���

0�6F�� VHODNX� SHPELPELQJ� ,� GDQ� %DSDN� 6HQJ� +DQVHQ�� 6�7��� 0�6F�� VHODNX�

SHPELPELQJ� ,,� \DQJ� WHODK�PHPEDQWX�SHQXOLVDQ�/DSRUDQ�3UR\HN�$NKLU� LQL��6HUWD�

XFDSDQ�WHULPD�NDVLK�NHSDGD��

�� %DSDN�&RVPDV�%DWXEDUD�VHODNX�5HNWRU�8QLYHUVLWDV�$JXQJ�3RGRPRUR��

�� %DSDN� )HUGLQDQG� )DVVD�� 6�7��� 0�7�� VHODNX� .HWXD� 3URGL�0DQDMHPHQ� GDQ�

5HND\DVD�.RQVWUXNVL�8QLYHUVLWDV�$JXQJ�3RGRPRUR��

�� 6HOXUXK�GRVHQ�\DQJ�WHODK�PHPELPELQJ�VHODPD�SHUNXOLDKDQ��

�� 3DUD�SLKDN�VXENRQWUDNWRU�\DQJ�WHODK�NRRSHUDWLI�GDODP�SURVHV�SHQJDPELODQ�

GDWD��GDQ�

�� 6HOXUXK� WHPDQ�WHPDQ� GDQ� UHNDQ� PDKDVLVZD� NKXVXVQ\D� SURJUDP� VWXGL�

0DQDMHPHQ�GDQ�5HND\DVD�.RQVWUXNVL��

$NKLU�NDWD�SHQXOLV�PHQ\DGDUL�EDKZD�PDWHUL�PDXSXQ�WHNQLN�SHQ\DMLDQ�ODSRUDQ�LQL�

PDVLK�MDXK�GDUL�NDWD�VHPSXUQD��2OHK�NDUHQD�LWX��SHQXOLV�PHPRKRQ�VDUDQ�GDQ�NULWLN�
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